==
N = 0] &F AF S & AN A
2A4: MR
HM: AZX[OIHEES S6t NGB H 245 (2L2Z/HE)
e M2R208 X - KA (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
<Xt 14,015,581 17,366,892 N 3,351,311
= 270,000
Jl 627,180
= 92,557
Al 13,025,844
AZXOIAES S8 NEPM L5 (2L 2Z/AK) 840,025 1,290,025 A 450,000
o= 54,000
Al 786,025
H=2AR2US KX - HA 725,165 1,175,165 A 450,000
o= 54,000
Al 671,165
=Mz & d3=2ARLZ2U3 KX - XNE 21,165 21,165 0
202 044 7,665 7,665 0
01 2L Y| 7,665 7,665 0
O =2U- -2 HaKX ¥ AZX0HE =&
85,000 * 3 x 32 x 53] 3,825
O 3 M=z =H & &g =4
20,000 * 4% % 42 % 123 3,840
203 €2 F=&d| 13,500 13,500 0
03 AIZH =X 2= XY 13,500 13,500 0
O AZX[IAEY S MBIRFX
13,500,000& = 14l 13,500
HE=H=EAD 8=2MH22H01E S 25,000 25,000 0
& 5,000
Al 20,000
307 gizto| & 25,000 25,000 0
& 5,000
Al 20,000
04 CIZ2tSHALALS B X 25,000 25,000 0
O M8 H=H=ED| d=2MefZ22t0lY 3l
N =l 25,000,000 = 13| 25,000
= 5,000
Al 20,000
2= 0l2tE 3 68,000 70,000 A 2,000
& 3,000
Al 65,000
307 gizto| A 68,000 70,000 A 2,000
& 3,000
Al 65,000
04 QIZ2tSHALALS B = 68,000 70,000 A2,000
O H163 O=cHZ0tctEU S N =l
68,000,000& * 13l 68,000
& 3,000
Al 65,000
o= 2QEHLULAUSE 100,000 100,000 0




AN HEX 0
HM: AZXOIHE S S8 NALH SHsHESL 22 /M=)
gel: d=n203 |X - KA (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 10,000
Al 90,000
307 glz2tol & 100,000 100,000 0
< 10,000
Al 90,000
04 QIZFHALAIH 2 = 100,000 100,000 0
O H203 28&H 6==2LEHUANE
100,000,000& * 13l 100,000
< 10,000
Al 90,000
H==A=SE=H 018 &3 Us 33,000 39,000 A 6,000
< 3,000
Al 30,000
307 glz2+ol & 33,000 39,000 A 6,000
< 3,000
Al 30,000
04 DIZHHALAISE E X 33,000 39,000 A 6,000
O HMs563 H=A=Sd=H 218 3 SU3&
Chal JH = 33,000,000& * 13l 33,000
< 3,000
Al 30,000
d=2 EdAZ= 3l 20,000 20,000 0
307 gl2tol & 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
O 20228 EA0E 20HHE A2A
20,000,000& = 13l 20,000
HEHI =2 4 U2 60,000 60,000 0
307 21201 A 60,000 60,000 0
04 DIZHHALALSE E X 60,000 60,000 0
O HM533 H=H=EEI| &= SUHHAUSE N
eS| 60,000,000& = 13l 60,000
HE M = HHESIE S 33,000 40,000 A7,000
< 3,000
Al 30,000
307 21201 A 33,000 40,000 A7,000
< 3,000
Al 30,000
04 QIZFHALAIE B & 33,000 40,000 A7,000
O M73 O HEEI| &= BHEUE S N
z 33,000,000& * 13 33,000
< 3,000
Al 30,000
= At - GO MTBAFAE DY CHEl OH & 30,000 30,000 0
307 21201 A 30,000 30,000 0




AN HEX 0
HM: AZXOIHE S S8 NALH SHsHESL 22 /M=)
gel: d=n203 |X - KA (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
04 DI2HHALALSE E X 30,000 30,000 0
O HM108 o= &= &bof - gHfeh MTBRHE N O
3 JH= 30,000,000& * 13l 30,000
H==AlZH 8= 0IAHZE =SS 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
O HM4sl HH==AlZH &= DtAEHZE =SUH3
i = 20,000,000& = 13l 20,000
Hsgl 8= 42ds HuAatisl 45,000 50,000 25,000
< 5,000
Al 40,000
307 21201 A 45,000 50,000 25,000
< 5,000
Al 40,000
04 DIZHHALALSE E X 45,000 50,000 A5,000
O HM123 HHEd) &= daH=s HUAHE
N Zl 45,000,000& = 13l 45,000
< 5,000
Al 40,000
O M3 g s4U3 70,000 50,000 20,000
307 21201 A 70,000 50,000 20,000
04 QIZFHALAIRH B &= 70,000 50,000 20,000
O 2022 &= Ageie s43I/02 Nz
70,000,000 = 14l 70,000
2d 2 EelX OtetE 3l 80,000 0 80,000
< 20,000
Al 60,000
307 21201 A 80,000 0 80,000
< 20,000
Al 60,000
04 QIZFHALAIH B = 80,000 0 80,000
O 2022 880+ Lal=2EcX OttEUZ
80,000,000 = 13l 80,000
< 20,000
Al 60,000
thegu 82 N==2aUa 80,000 0 80,000
307 21201 A 80,000 0 80,000
04 QIZFHALAIH B = 80,000 0 80,000
O HMb522 Hsgd &= Al sS4
80,000,000 = 13l 80,000
O3 d=2 dEH=s 87203 20,000 0 20,000
307 glz2tol & 20,000 0 20,000
04 QIZFHALAIH E = 20,000 0 20,000




2A4: MR
Ha: ARX0HYS S8 NABH LHHEHLBB/AS)
e M2R208 X - KA )
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O H1g o3 8=2 MEHs &3203
20,000,000 = 13| 20,000
Mt E XA €0 B3RS 20,000 0 20,000
== 5,000
Al 15,000
307 2Iz2t0| & 20,000 0 20,000
= 5,000
Al 15,000
04 DIZ2HSHALALR & 20,000 0 20,000
O 2022 HMetY =SS XIAD] &0 HH=2CH3!
20,000,000& * 13| 20,000
= 5,000
Al 15,000
AHE HXEEE QX L XNFES 25 114,860 114,860 0
dXEgEE KX 4,860 4,860 0
201 et d| 3,500 3,500 0
01 AR 22l ] 3,500 3,500 0
O =2 3,500
o AILX g g8 I} Kol
3,500& * 1,000 3,500
202 o4 | 1,360 1,360 0
01 2L HI 1,360 1,360 0
O = -olH &X&adde KX
85,0003 x 2% x 22 x 43| 1,360
dXEgdEE XS 40,000 40,000 0
307 2Iz2t0| & 40,000 40,000 0
02 DI AAIE E X 40,000 40,000 0
O &dXzd (= - otAHl)
40,000,000& * 13| 40,000
MXEHAE 20X JHE 70,000 70,000 0]
307 QI2t0| ™ 70,000 70,000 0
04 QU2 ALAIS & 70,000 70,000 0
O &8XEHEE 2108 M=
70,000,000& * 13l 70,000
METE SA(23YL22/HS) 6,690,208 6,174,654 515,554
J| 627,180
= 38,557
Al 6,024,471
ANeEd=s g4 ¢ X 2,751,464 2,380,756 370,708
J| 238,376
Al 2,513,088
NEHSHA XS 37,900 7,900 30,000
201 2Et2A Y| 32,800 2,800 30,000




M MEXE 0

M MBS SH(2LAZ/MHS)
Sel NHS 84 L N CER-ED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
01 At 22l bl 32,800 2,800 30,000
O 28 2,800
o MEAEHES 3o &AM L&
100,000 * 14Y = 23 2,800
O dxz 30,000
o M2(XY)AL 3l MR D2 U9 & A
== 99X 30,000,000 * 14 30,000
202 04 d| 5,100 5,100 0
01 2L Y] 5,100 5,100 0
O 25 U sdd o U FEHLF =
&l 85,000& * 3¥ * 22 x 103 5,100
A= 29 244,720 221,780 22,940
307 212t0| & 244,720 221,780 22,940
03 AAHNEESIHES 244,720 221,780 22,940
O = AM=Es 23 Xd 198,772
o NR=2E 39,575
- =20 1,856,700& * 1H * 12& 22,281
- A&03 2,856,700€ * 1€ x 23| 5,714
- Y9ZE S| 2,856,700& * 60% * 23| 3,429
- ANSIEE 2 377,650 * 1€ = 128 4,532
- El&Z 301,540 = 14 = 12& 3,619
o Xl & XH& 46,613
- =30 2,581,900& * 1¥ = 12& 30,983
- &= 2,581,900& » 1Y¥ x 23] 5,164
- Q&S| 2,581,900& * 60% * 23| 3,099
- MIEE= 341,330 * 14 = 12& 4,096
- §&3 272,530 * 18 = 128 3,271
o & 83,844
- 20 2,322,100& = 2% » 128 55,731
- &= 2,322,100 * 29 = 23| 9,289
- YZHESIH|
2,322,100& * 60% * 23 * 29H 5,574
- ANSIEE2 306,940 * 2 * 128 7,367
- &3 245,110 » 2% * 12& 5,883
o HHQA 28,740
- 20 1,981,860& * 1 » 12& 23,783
- AISIEEZ2 212,070 = 14 = 128 2,545
- §&3 201,000& = 1€ = 128 2,412
O == AlM=3 2EH| 45,948,000 * 14 45,948
HE &8 A X 9,000 9,000 0
307 QI2t0| & 9,000 9,000 0
02 At AMAEE =X 9,000 9,000 0




2N
X ZH -
L= B

el

=X

MBS S4 (2322
X

ANeds 54 &

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Od=mAd o 2508 28 d=9 Aa
9,000,000& = 1A 9,000
NMdEE H=U3 &It 240,000 240,000 0
307 2Iz2t0| A 240,000 240,000 0
02 QI AAIRE E X 240,000 240,000 0
O H613 detgs dsusl &It
240,000,000& = 13 240,000
AMCIHEE JH= 773,000 719,000 54,000
301 et M= 661,000 607,000 54,000
09 #HAIAHI XIS 2 661,000 607,000 54,000
O H243 MBS 88 =XEH| 661,000
o & 24,000,000 * 2404 SH = 576,000
o AHAAH 29,000,000 * 1JHHA 29,000
o YW 3FHEA 28,000,000 * 204 HA 56,000
307 QI2t01 & 112,000 112,000 0
04 CIZ2tSHAPALS B X 100,000 100,000 0
O HM243 ANUA=US HE
100,000,000& * 13l 100,000
06 282 12,000 12,000 0
O HM243 AMSIHESUs S84 MNolEE 2
12,000,000& = 14l 12,000
(HEdH dMeted T NEZ A3 3,000 3,000 0
307 2izto| A 3,000 3,000 0
02 QIZ2IA AAIE E X 3,000 3,000 0
O 2022 HEdtl Meltld=: MEag d2Uis =
& 3,000,000& = 13| 3,000
Nt MEHs Wsd &It 120,000 120,000 0
307 2iz2to| A 120,000 120,000 0
02 QIZHA AAIE E X 120,000 120,000 0
O H343 Metgds MESHsuisdE 20t
120,000,000 * 13| 120,000
NMedEE HEaAMEHsSUHENE &I 25,000 25,000 0
307 2Iz2t0| & 25,000 25,000 0
02 DIZHAAAIE E X 25,000 25,000 0
O H173 &MY T HH2aMEs sd &
ot 25,000,000& * 13| 25,000
St=20 A Hisel O™ &4 80,000 0 80,000
307 2I2t0| ™ 80,000 0 80,000
02 QIZHBAAIE E X 80,000 0 80,000

5l
O 2022 8t=0{ X Ht=e2ld &d

80,000,000& = 13l

80,000




M MEXE 0

HH: MEHs |4(2
[u]

©9: NAHS |4 ¥ N (29l 8)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
2= S RE MEHS UFHA 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
02 It M AHE L 10,000 10,000 0
O gollet =53 AT MEMES NEHE &
Jt 10,000,000& * 13l 10,000
25 Hal =8 & AL X 30,000 45,000 A 15,000
307 21201 A 30,000 45,000 A 15,000
02 It S AMHEL 30,000 45,000 A 15,000
O 23 s & & At A&
30,000,000& = 14 30,000
UBIMEH XS X BRI (S XA) 283,172 276,538 6,634
J| 119,188
Al 163,984
307 21201 A 283,172 276,538 6,634
J| 119,188
Al 163,984
02 QIAFAANFEX 283,172 276,538 6,634
O LetdEHSNEX 29 283,172
o MEM=EXZ=X 20
2,083,770& » 8H » 12&8 200,042
J| 100,021
Al 100,021
o HIERYS 386,330 * 8% = 12& 37,088
J| 18,544
Al 18,544
o NEX gsEE=
12,980& = 8% = 12& 1,247
J| 623
Al 624
o FYzRL+Y 79,8508 * 8% x 3 1,917
o HEAZZRSHE 79,8503 * 8% « 23] 1,278
o 23l 50,000& = 8% = 128 4,800
o 1=l 300,000& = 8% = 13 2,400
= (Ol 300,000& = 8H » 123 28,800
o @AHZ O 350,000& = 8% « 23] 5,600
HEAMENSXZX BHX(2SXHA) 283,172 276,538 6,634
J| 119,188
Al 163,984
307 glz2tol & 283,172 276,538 6,634
J| 119,188
Al 163,984
02 It M AMHEE 283,172 276,538 6,634
O ozl HEMSNZA 29 283,172




2N
D AEHsE |d(2
[u]

el

X ZH
S =

=X

o o

NEds s4 ¢

= _ — d =
SA - BB B () - MM - BES e
o 24 HEMSXNZA 20
2,083.7702 » 8% * 128 200,042
J| 100,021
Al 100,021
o HARYZ 386,330& * 8% » 12& 37,088
J| 18,544
Al 18,544
o XNEA EsEE
12,9802 » 8% » 122 1,247
J| 623
Al 624
o FYUIRE 79,850 * 8% x 3 1,917
o fEZRSHE 79,8503 * 8% » 2« 1,278
o 23l 50,000& = 8% = 128 4,800
o I =l 300,000& = 8% = 13 2,400
= (Ol 300,000& = 8H » 123 28,800
o HHEZ O 350,000& = 8% « 23] 5,600
ANIALASZSE T2 29 42,000 42,000
307 glz2tol & 42,000 42,000
02 LIt HAMHEE 42,000 42,000
O MYAZSE =2 42,000
o NEX =% 800,000& = 6H » 73 33,600
o FR2Y(SH) 50,000& = 1& = 7& 350
o HIZ 2 00|23 w2l - uAH
2,900,000& = 14 2,900
o WIZE & 0ls =cl
2,400,000& * 14 2,400
o 23l 2,750,000& = 14 2,750
Aol HiLlA CHEl 5,000 5,000
307 21201 A 5,000 5,000
04 DIZHHALALSE E X 5,000 5,000
O H253 o=Al2go&ul alel HLAUS
JH = 5,000,000& = 13l 5,000
XII2Y =703 7,000 7,000
307 glz2tol & 7,000 7,000
04 QIZFHALAIH B = 7,000 7,000
O M2 o=Al222& =II2E F=FU=
N = 7,000,000& = 13l 7,000
H=H2HI A2 A2l OFUE 20,000 20,000
307 glz2+ol & 20,000 20,000
04 QIZFHALAIH B = 20,000 20,000
O H9sl =H=HI =2 Atglel ofUH3
i = 20,000,000& * 13l 20,000




M MEXE 0
HH: MEHs S4(EL22/HE)
g NEds 8 £ X

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
Jsd MEHNsUa 30,000 30,000 0
307 gl2tol & 30,000 30,000 0
02 It M AHE L 30,000 30,000 0
O HM2b3 I MaUsUHa &It
30,000,000& * 13l 30,000
ANZEIItEl oH= 139,000 139,000 0
307 21201 A 139,000 139,000 0
04 DIZHHALALSE E X 139,000 139,000 0
O AEIINE ¥ TS HE(BHES)
139,000,000 * 14 139,000
O==AlEEH A2 BISU3E 6,000 5,000 1,000
307 21201 A 6,000 5,000 1,000
04 QIZFHALAIH B = 6,000 5,000 1,000
O HM183 Gi=s=AlZH A2 HISOHE JHE
6,000,000& * 13l 6,000
S2XY HOE=US 4,500 5,000 A 500
307 glz2+ol & 4,500 5,000 A 500
04 DI2FHALAISE E X 4,500 5,000 A 500
O 2022 S2X4d HOES tal KAl
4,500,000& = 13l 4,500
24 etXige 7203 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 DI2HHALAISE E X 10,000 10,000 0
O HM73 o2 XS S72U3E N
5,000,000& = 23| 10,000
AMOITHED CHEH & 9,000 9,000 0
307 gl2tol & 9,000 9,000 0
04 DIZHHALALSE E X 9,000 9,000 0
O 2022 O4==Al2I Xt&EDI CHAEZX JH=
9,000,000& = 13l 9,000
Heted S XAt 2 al 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0
O 2022 Hete = XIAtEE 203l JH &
5,000,000& = 13l 5,000
ASEANMHEZAl delESTUHS 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 QIZFHALAIH B & 5,000 5,000 0
O 2022 & -3 NHEA = ZS2 H2E
203 = 5,000,000& = 13l 5,000




2N
X ZH -
L= B

el

=X
MEHS 2H(2
ANeds 54 &

0

St 2AZ/HS)
X

I =}
=

iy

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
HEAZXSEAIE X 200,000 130,000 70,000
307 2Iz2t0| A 200,000 130,000 70,000
03 IZEH X PHAESIHIEX 200,000 130,000 70,000
O RAE 728 04FC U-18 X
130,000,000 * 14! 130,000
O HEZ2Z2AEZX2Y 29
70,000,000& * 14! 70,000
4OHAl - 2 MEAHNS BUsd ZI} 30,000 10,000 20,000
307 212t0| & 30,000 10,000 20,000
04 CIZ2tSHALALS B X 30,000 10,000 20,000
O HM2&l 4MAl - 2(Hz, =& 22 2 ) M
e s Mz 30,000,000 * 13| 30,000
=AM S8 SHOIE S A 60,000 0 60,000
307 QI2t0| & 60,000 0 60,000
04 CIZ2tSHAPALS B = 60,000 0 60,000
O 2022 (d==Al M=l 3tgt &HotE
60,000,000& * 13l 60,000
SFNHHE (BE2-HLULA) ALXZY MY 29 (=2 20,000 0 20,000
MR EHAS)
307 2I2t0| & 20,000 0 20,000
03 QIZICEHEHAESAH EX 20,000 0 20,000
O stnoHE(stE==2-HLIA) AZXEH 29
20,000,000& * 14! 20,000
S3&) 5sE Ua M= 20,000 0 20,000
307 212t0| & 20,000 0 20,000
04 CIZ2tSHALALS B X 20,000 0 20,000
O 2022 E3l&)| 53E U3l MAl
20,000,000 * 13| 20,000
OIS S48 L AJAHAS N 1,029,563 879, 146 150,417
J| 388,804
= 38,557
Al 602,202
2O MSEAN K& 2,040 2,040 0
202 04d| 2,040 2,040 0
01 2L Hl 2,040 2,040 0
O 2= HOMHNMSEAF ZIotdLE o1 2 S
A2 =& 5,000& * 2% * 22 * 63 2,040
A& H=E3 29 157,779 137,619 20,160
307 2iz2to| & 157,779 137,619 20,160
03 QIZEHEHESIHIEX 157,779 137,619 20,160
O o =s 2 Xd 122,779




SN HSXAD
dM: MEHs 84
cell HOUUNS S84 L AAAS

2 CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
s Ao x 39,483
- =0 1,856,700& » 1H » 12&8 22,281
- &0z 2,856,700& * 1 « 23| 5,714
- YE S 2,856,700& * 60% * 23] 3,429
- MIBEE 370,000 = 1& = 128 4,440
- &= 301,540 * 18 » 123 3,619
o I& 46,508
- =0 2,581,900& * 1€ » 123 30,983
- 0= 2,581,900& = 1H « 23| 5,164
- YE SO 2,581,900& * 60% * 23l 3,099
- MIEBEEZ 332,550 * 1H « 123 3,991
- EA3 272,5403 * 198 » 12& 3,271
o & 36,788
- =20 2,042,300& » 1H » 12& 24,508
- &0= 2,042,300& * 1H « 23| 4,085
- Y@EFIH 2,042,300& = 60% * 23| 2,451
- MIBEE 263,050& * 1H » 123 3,157
- &3 215,580& * 19¥ » 123 2,587
O HoH=2 29| 35,000,000& = 14 35,000
= ZoHe M=sosl 5,500 5,500 0
307 21201 A 5,500 5,500 0
02 HAFHAANGFEX 5,500 5,500 0
O HM422 8= HOHQ M=zl &It X
5,500,000& =+ 13l 5,500
HdetedEs ZOoHMEHE 100,000 100,000 0
307 glz2tol & 100,000 100,000 0
02 It M AMHEE 100,000 100,000 0
O HM30= Metgde HoHelM=stal &It N&
100,000,000& * 13l 100,000
N2 2H M0 DtetEU = 4,000 4,000 0
307 glz2tol & 4,000 4,000 0
02 It HAHEE 4,000 4,000 0
O M303 M2=2H M0 OttEUHE &It X
& 4,000,000& = 13l 4,000
S=2E d= FUedsUal 15,000 15,000 0
307 gl2tol & 15,000 15,000 0
02 It M AHE L 15,000 15,000 0
O 2022 E=E &= ZHAM=CHE M=l Y
Egal 15,000,000& * 14 15,000
M S0t MSHs 6,000 5,000 1,000
307 21201 A 6,000 5,000 1,000




SN HSXAD
dM: MEHs 84
cell HOUUNS S84 L AAAS

2 (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 It M AHE L 6,000 5,000 1,000
O HM223 & =otel M=Ual =t
6,000,000& = 13l 6,000
detge AIZEe M=sia 4,000 3,000 1,000
307 glz2tol & 4,000 3,000 1,000
02 It M AHE L 4,000 3,000 1,000
O HM153 dMetd= AIZEOMAM=EU &t
4,000,000& = 13l 4,000
detgd s Zojel MEM=sUsl 20,000 15,000 5,000
307 21201 A 20,000 15,000 5,000
02 It S AHE L 20,000 15,000 5,000
O 2022 detgs ZOHMEsUHa It X
el 20,000,000& = 13l 20,000
ZOHQ MEXM= X=X BHX X2 207,844 169,837 38,007
J| 88,924
Al 118,920
307 21201 A 207,844 169,837 38,007
J| 88,924
Al 118,920
02 B AAHE X 207,844 169,837 38,007
O ZMHAYUEMSNEXN 29 207,844
o WEM=EXZ=X 20
2,083,770& » 6%F » 128 150,032
J| 75,016
Al 75,016
o HIERYS 386,330& * 6% = 12& 27,816
J| 13,908
Al 13,908
o FYUIRE 79,850% * 6H * 5 2,396
o WAI O 350,000& * 6Y = 23] 4,200
o 23l 100,000& *» 6 = 128 7,200
o 1=l 300,000& = 6 = 13 1,800
o Ot 200,000& = 6H » 123 14,400
Ol=Al ZOHe MEX=3 27,000 27,000 0
307 21201 A 27,000 27,000 0
04 QIZFSHALAIH B = 27,000 27,000 0
O HM232l H==Al ZOHAMBY S HA
27,000,000& = 13l 27,000
= O HAAZX 13 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 QIZFHALAIH B = 20,000 20,000 0




SN HSXAD
dM: MEHs 84
cell HOUUNS S84 L AAAS

2 (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O HM123 H=A=SEHl d=ZHAHAATS
e & M=2Z2 - Ot FHHAAZE M
3 20,000,000& * 13 20,000
BMAI(O ==, =8, 22) QMBS URH 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIH B = 10,000 10,000 0
O 2022. 3MAI (K==, =&, 2) ZoHl e
s Ws 4 HA 10,000,000& * 13l 10,000
I -3Se Z0He 2IANE FHdNFH 4,000 4,000 0
307 glz2tol & 4,000 4,000 0
02 IZtE M AMHEE 4,000 4,000 0
O Mgl 25 e 2sds AduzH
dFA) 4,000,000& * 14l 4,000
AP E 3,000 3,000 0
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M MEXE 0

HaM: AlDI BALFEO HESAYH 2F - 22 (2L Z/HE)
2 MSAE 29 2 2 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o Holsgs ==
10,500 = 2004 ~ 12€ 252
o A=ES OHAMEA W& =2=2(&.61EHD])
5,500,000& = 23| 11,000
o AYOIMBR Y 242
440,000& = 12&€ 5,280
o MI|ICHEZE & =22
350,0008 = 12€ 4,200
O g2g92¢ 6,900
o ARG 60,000& = 1¥ = 115 6,900
O odx= 2,400
o H£J| & Hlo ¥x=
25,000 = 8§ ~ 12&€ 2,400
02 B232ZH| 105,900 105,944 N44
O 2222 2 HA 70,900
o MI|E2 4,300,000& = 12& 51,600
o ASIEEE 1,500,000& * 12& 18,000
o WNERY 22 1,300,000 * 14! 1,300
O A& &Hls Xl 35,000
o EZHFE AMEES L A2
30,000,000 = 14! 30,000
o M| ¥ AAH KA
5,000,000 = 1Al 5,000
202 044l 1,440 1,440 0
01 2L bl 1,440 1,440 0]
O Hs2 3 22 €42 FA
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201 24l 19,440 19,440 0
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01 2= 13,356 13,222 134
O MsdA NF 2 AMEsS 22 5222 13,356
° 6= 97,4583 * 4H » 18¢ 7,017
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